5M9b - Use all four operations to solve problems involving measure [e.g. length] using decimal notation, including scaling

Running Club

Runner Length Runs per )
of runs week
John 1.7km 5
Abbey 1.6km 6
Chris 1.4km 7
Penny 4.1km 3
Joe 2.8km 4
Alex 4.4km 3
Lucy 2.4lm 6

How many kilometres does Lucy run more than Chris in a
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A farmer builds a fence around a square cow field that
measures 62m along each side. The fence is made from

week? posts and 3 rows of wire.
How many metres of wire are needed?
km
m
90cm + m=2.1m 890m + m = 1.4km

What is the missing length in metres?

m

What is the missing length in metres?

M

Tom cycles 5.4km everyday.
How many kilometres does he cycle in a week?

km

Jack can paddle 1.8km in 30 minutes in his canoe.
How far can he paddle in 10 minutes, in metres?




